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PART [ Structure and Vocabulary(10%)

Direction: There are 200 incomplete semtences in this part. For each sentence there are four choices
markd AV, B), Cland 13). Choose the ONE answer that best com pletes the sentence . Then blacken the
corresponding letter om the Answer Sheet with a pencil .

1. Revolution means _the productive forces,

A)to liberate Blto have liberated Cliliberating [ having being liberated
2_Jet engine can be produce the new alloy is hard enough under the situation of 1000°C .
Adif only Blas if ) Clhonly if D)even if
3. T could not find out the answer to this complex question.
A)However hard did 1 try B)However hard | tried
CiHowever 1 tried hard D Whatever | tried hard
4.1t is better to die on one’s feet than
Allive on one’ s knees Blliving one's knees
Clwould be D)o live on one's knees
§.Had a field doctor been available that time, the wounded soldier alive now.
Alwaould have been B)have been Clwould be 2V had been
6. Such the case, there are no grounds to justifly your complains.
Adis B)being C)was D)would be
7.Few men pay full attention to their health conditions __ they are seriously ill.
Aldwhen Bl umtil C)until D) before
8. the matter you brought up, | think we have to put it off for a while.
A)As regard E)As regarded C)Regarded D)As regards
9. %o little a knowledge of mathematics that the maths lecture completely puzzled me.
A acquired Blhad 1 acquired C)1 had acquired Ddid T acquire
10. It was ____ who rescued the child from the lake in the suburban park.
Alhe and 1 B)him and me C)his and [ D)he and me
11. John complained to the bookseller that there were several pages __ in the dictionary.
A)missing B)losing C)dropping 1) leaking
12. The opium war took place in the ____ of the nineteenth century.
A)middle Blheart C)eentre D)eore
13. Dinner will be ready ,but we still have time for a drink.
Adpresently Bleurrently Cllately D) inally
14. My brother likes eating very ruch but he isn’t very ____ abour the food he eats.
Adspecial B} peculiar C }unusual D) particular



15. Human behavior is a product of learning, but that of the animals depends mainly on .

Ainstruction Blinstinct Clintelligence D) interaction
16. Death rates have gone down but birth rates have not declined - proportion.
Alon Blin Cho Difor
17. Besides her two children ,Wshe has {ive more orphans 1w _
Alprovide for B)support of C)zupply with DYpull through
18. Watch me pulling the calf awkwardly to the bamn, the milkmaid fought hard 10 her laugh-
ter.
Adhold back Blhold on Clhold out Dihold up

19. Life is the moving , ever — aggressive force. When any form of life dies, certain life processes

and act out the saying” waste not ,want nat”.
A take aover B)take up C)take on D)take in

20). As soon as the conference was over,all the participants went their __ ways.
Adrelative B)homely C)perspective D) respective

PART ]I Reading Comprehension(50% )

Section A

Direction: There are 5 passages in this section . Each passage is followed by some questions or unjfin-
ished statements. For each of them there are four choices marked A}, B),C)and D). You should de-
cide an the best choice and blacken the corvesponding letter on the Atnswer Sheet with a pencil .
Questions 21 to24 are based on the following passage:

Every country tends to accept its won way of life as being the normal one and to praise or criticize
others as they are similar to or different from it. And unfortunately; our picture of the people and the
way of life of other countries is often a distorted one.

Here is a great argument in favour of foreign travel and learning foreign languages. It is only by
travelling in,or living in, a country and getting to know its inhabitans and their language that one can
find out what a country and its people are really like. And how different the knowledge one gains in
this way frequently turns out to be from the second — hand information gatheres from other sources!
How often we find that the foreigners whom we thought to be such different people from ourselves are
not very different after all!

Differences between peoples do,of course, exist and,one hopes, will always continue to do so. The
world will be a dull place indeed when all the different nationalities behave exactly alike, and some peo-
ple might say that we are rapidly approaching this state of affairs. With the much’greater rapidity and
ease of travel , there might seemn to be some truh in this at least as far as Europe is concerned . However
this may be,at least the greater ease of travel today has reveled to more people than ever before that the
Englishman or Frenchman or German is not some different kin of animal from themselves.

21. Every country criticize ways of life in other countries because they are
Aldistorted Hinormal
C)similar o each other D)different from its own
22.One who travels in a foreign country and learns itz language will ___
A)find out what its people are like
Blargue in favour of this country and the language
.C)know the country and its people better
D)like its inhabitans and their language



23. The knowledge one gains by travelling in a foreing country is often
A)from second — hand information
B)gathered from other sources than{ from Jits inhabitants
C)gained from the arguments about the country
D)different from what one had before the travel
24. Differences between peaple
A)will gradually disappear because of ease of travel
B)do exitst even though different nationalities behave exactly alike
C)will always continue to exist and the world will be a dull place
D)will not exist as one hopes
Qustions 25 to 28 are based on the following passage: .

That colorful figure, the cowhand or cowboy |, was the master of the long drive and the roundup.
Mexican Americans were the first cowhands. These vagueros invented almost all the tools of the cow-
hand’s trade, from the broad — brimmed hat and the rope lariat to the special western saddle.

A cowhand s life was a hard one. Cowhands worked sunup to sundown and received lower wages
than most {actory workers. Their legs became bowed for long days on the saddle. They developed per-
manent squints from peering into the glaring sunlight of treeless plains.

Every itemn of the cowhand’ s clothes and equipment served a necessary function. The wide brim of
the “ten — gallan hat”could be turned down to shade the eyes or drain off rainfall. The bandana could be
tried over the nose and mouth to keep out the dust raised by the pounding hooves of countless cattle.
The bandana also served as a towel, a napkin, a bandage and a handkerchief. Cowhands sometimes wore
leather trousers, caled chaps, over regular overalls. They protected the riders” legs from injury if they
fell from their horses or when they had to ride through cacus, sagebrush, or other thorny plants.

25. It can be inferred from the passage that in the average day cowhands worked from

Aldawn unti! noon B)noon until dusk

Cldawn until dusk [Mdusk until midnight
26. Who invented the equipment cowboys used?

A)nventors on the east coast B) Vaqueras.

C)dawn until dusk ’ D) Factory workers.
27. What happened to cowhands legs?

A)They became shorter.

B)They had to be protected from cattles's hooves.

C)Sitting on the saddle changed their shape.

D)Rainfall brought on rhewnatism.
28. In the third paragraph(line 4}, the word"“chaps”means __ .

Adpieces of steak B)protective pants

Clregular overalls D)an injury to a cowhboy”s legs
Questions 29 to 32 are based on the following passage:

All that we really need to plot our the future of our universe are a few good measurements. This
does not mean that we can sit down today and outline the future course of the universe with anything
like certainty. There are still too many things we do not know about the way the universe is put togeth-
er. But we do know exactly what information we need to fill in our knowledge, and we have a pretty
good idea of how to go about getting it.



Perhaps the best way to think of our present situations is to imagine a train coming into a switch-
yard. All of the switches are set before the train arrives, so that its path is completely determined. Some
switches we can see,others we cannot. There is no ambiguity if we can see the setting of a switch: we
can say with confidence that some possible futures will not materialize and others will. At the unseen
switches, however, there is no such certainty. We know the trains will trake one of the tracks leading
out, but we have no idea which one. The unseen switches are the true decision points in the future,and
what happens when we arrive at them determines the entire subsequent course of events.

When we think about the future of the universe, we can see our” track "many billions of years into
the future, but after that there are decision points to be dealt with and possible fates to consider. Ther
goal of science is to reduce the ambiguity at the decision points and find the true road that will be fol-
levwed.

29, According to the passage, it is difficult to be certain about the distant future of the universe because
we _
Adhave too many conflicting theories
B)do not have encugh funding to continue our research
Care not sure how the universe is put together
D)have focused our investigations on the moon and plansts
30). What does the author see as the function of the universe's unseen “switches?
A)They tell us which one of the tracks the universe will use.
B)They enable us to alter the course of the universe,
C)They give us information about the lunar surface.
D) They determine which course the universe will take in the futrue.

31. For whom is the author probably writing this passage?
A)Train engineers B)General audiences
C)Professors of statistics D) Young children

32. Which of the following statements best describes the organization of the passage?
AJA statement illustrated by an analogy
B)A hypothesis supported by documentation
C)A comparison of two contrasting theories
I3A critical analysis of a common assumption
Questions 33 to 36 are based on the following passage:

In our natural habit my wife and [ don’t sleep with the baby. We normally first come to know
he's awake by a series of screams that would put any self — righteous banshee to shame. But lying
there wide - awake in an unfamiliar house offered me the opportunity to hear my child wake up for the
first time.

I was thinking about my day, a Sunday, and all the chores that were at hand. We’d have to get
organized and go home. My wile would clean the house. | would pay bills and do some home repairs.
The prospect of all this was less than the stuff of dreams.

I heard my child stir. He rolled over, opened his eyes and said, “Wow.” Suddenly, 1 learned
something.

With all my training on“good thoughts”, “looking on the bright side” and “taking it a day at a
time", I woke up to a near miserable world. This little bay, with no experience at his disposal, was at
the place ["ve been looking for. To wake up in the moming, take a look at the world and say “wow”

-6.



is probably as close to contentment as a person could ever get.
1" m sure our child will eventually wake up, as most of us do, only to say “ugh. "T wish T knew
what [ could do to never let this happen. | wish he could teach me the way he sees things now.
If we could just make ourselves relearn what it takes to open our eyes in the morning, see that we
are alive in paradise and say “wow. "
33. We can guess from the passage all the folloewing information except that
(A)they are spending the night not in their own house.
(BJit is Sunday when the author awakes,
(C)this time they sleep with the baby but they usually don’t.
(D)the father hears the child erying.
34. What kind of feeling does the child’s"wow"imply except
(A)wonder {B)contentment
{C)being deeply impressed () innocence
35. Which of the four statements about the last paragraph is Not True?
{A)The father has really no way to keep his child from being disappointed later about the world as
the father now is.

(BJA child’s perspective is sometimes valuable.
(C) The father wishes to change something.
(D)A child"s growing is painful.
36. What does the father learn from his child?
{A)to be content with the warld
(B)to wake up in the morning and say” wow"
(C)to look on the bright side
(D)to have good thoughts
Questions 37 tod0 are based on the following passage:

Most animals use more than one species as food. Therefore, the term“food web”is a better descrip-
tion of food relationships (han“food chain”. A food web is a complex feeding system that contains sev-
eral food chains. For example, mice, rebbits, and deer eat plants. Owls eat mice and rabbits. Mountain
lions eat rabbits and deer. These five species are parts of food chains that together form a food web.

The first link in a food chain is always a green plant. Only organisms with chlorophyll, such as
green plants, can make food. For example, the first link in aquatic food chains is algae. Most algae are
microscopic green plants that produce food by photosynthesis. In photosynthesis, energy from sunlight
converts carbon dioxide and water to sugar. Tiny fish in lakes, streams, and oceans eat algae. In turn,
these tiny fish are eaten by larger fish. The larger fish are eaten by other fish. The food supply for fish
is made by algae. This food is then passed throught the food chains as one animal eats another.

Organistns may be divided into three groups based on how they obtain food. These groups are pro-
ducer, decomposer, and consumer. Organisms containing chlorophyll are producers. Thus, green plants
are producers. Animals that eat other animals and plants are consumers. Microbes, one ~ celled organ-
isms that cause the decay of dead plants and animals, are decomposers. Since decomposers can’ t make
their own food, they are also consumers.

37. According to the passage, what is a “food webh"?
A)A complicated system of several food chains.
BJA society that distributes food.



C)The relationship of one green plant to another.
13)The device that spiders use to catch food.
3B. Which of the following would nost likely be the first link in a food chain?
Adtermites B)fish Clilions [Mgrass
39 What kind of organisms have chlorophyll, according to the passage?
A)Green plants, such as algae.
B)Carnivores that eat rabbits and deer.
C)Consutners, but not producers,
D}Decomposers and consumers, but not mice or owls.
40. The main purpose of this passage is to
Aldetermine which food chain is the most efficient.
Bldescribe the foodnet work among plants and animals.
Clexplain the process of photosynthesis in green plants.
Dappeal to conservationists o protect dangered plant species.
Section B
Direction; Read the follmeing passage and then give short answers to the five questions. write your
answers on the Answer Sheet .

A revolution in our understanding of the earth is reaching its climax as evidence accumulates that
the continents of today are not venerable landmasses but amalgams of other lands repeatedly broken
up,juggled, rotated, scattered far and wide, then crunched together into new configurations like ice
flowes swept along the shore of a swift — flowing stream.

After considerable modification this became the now largely accepted concept of“plate tectonics™,
explaining much of what is observed regarding our dynamic planet. Some oceans, such as the Atlantic,
are being split apart, their opposing coasts carried away from one another at one or two inches per year
as lava wells up along the line of separation to form new seafloor. Other ocean, such as the Pacific, are
shrinking as seafloor descends under their fringing coastlines or offshore areas of islands.

The Earth's crust, in this view, is devided into several immense plates that make up the continents
and seafloors, and that all float on a hot, plastic, subterranean”mantle. "What causes these plates to jos-
tle each other, splitting apart or sliding under one another at their edged, is still a mystery 1o geologists:
it may be friction from circulating rock in the Earth’s mantle,or it may be an effect produced by gravj-
ty.

41. What’s the revalution in our understanding of the earth?

42. What wells up along the line of Atlantic separation?
43, The Pacific Ocean is changing .

44, Two possible causes of the movement of the tectonic plates are

45. What 15 the name of the accepted concept about the Earth that the author gives us?

PART [ Cloze(10%)
Direction: For each numbered blank in the following passage , there are four choices marked A), B,

.8-



C), and I3). Choose the best one and mark o answer on the Answer Sheet by blackening the corre-
sponding letter in the brackets. (10 points)

Mo one knows for sure what the world would be like in the year 2001. Many books have been
written _ 46 the future. But the 19th century French novelist Jules Verne may be called a futurolo-
gist in the fullest 47 of the word. [n his fantastic novels“A Trip to the Moon® and “Eighty Days
Around the World ", he described in detail the aeroplane and even the helicopter. These novels still
have a great attraction 48 young readers of today because of their bold imagination and scientific
accuracy.

The description below is what our life will be in the year 2001 as predicted by a_ 49 writer.

In 2001 ,in the home, cookers will be set so that you can cook a complete meal with the touch of
a switch.

Television will provide information on prices at the _ 50 shops as well as news and entertain-
ments. Videophones will bring pictures as well as _ 51 of telephone conversations.

Machines will control the temperature, lighting entertainments, security alarms, the laundry and
the gardening. ’ ’

Lighting will provide decoration as well as wall-paper.

At work, robots will take 52 most jobs in the manufacturing industries. Working hours will
fall to under 30 hours a week. Holidays will get Ilongcr. Six weeks will be the annual holiday. Men and
women will retire at the same age.

Or leisure will be different too. The home will become the center of entertainments through tele-
vision and electronic games. More people will eat out in restaurants _ 53 they do today; also they
will have a much wider variety of food available. There will have a much wider variety food available.
They be a change of taste toward a more savoury ~ flavored menu. New synthetic foods will forma __
54 part of people’s diets.

Foreign travels will 55 . Winter holidays will become more popular than summer ones. Also
non-stop flights from Britain to Australia and New Zealand will be easily available and much cheaper.
Education will become increasingly more important than ever before.

46.  Alin Blof Clabout D)for

47.  Alsense Himeaning C)detail D)implication
48,  A)for Blof Clon D) towards
49, Altoday BInowadays Clpresem —day  DYpresent
50.  A)near Hnearhy Clinearly Dinearer

51, A)noise Blsound Cltone D) tune

52, Alto Blaway Choff D)over

53.  A)than Blas C)when D) while

54, Adusual Blpopular Cdaily ) regular

55, Aadd B)increase C) raise D)arise

PART IV English — Chinese Translation{15%)

Direction: Read the following passage carefully. Then transiate it into Chinese. Write your transia-
tion on the Answer Sheet .

The A - bomb used a different process, depending upon radio — activity. In this process, called “fis-
sion” ,a heavier atom split into two lighter atoms. In general,in radio — active substances this fission
proceeds at a constant rate which is slow where substances occurring in nature are concerned. Bur there

LI I



